Counting Declarer’s Distribution - II
With two or more four card suits, responder normally bids the cheapest, or lower ranking first. 
South

North
  1C

  1H

The inference, mentioned before, is that responder has only 4 hearts. Also, it is 
  2H

 2NT

unlikely that responder has 4 diamonds – but may possibly hold 4 spades. 
South

North
  1D

  1S

Expect responder to have exactly 4 spades and less than 4 hearts, for he probably 

  2S

 2NT

would have bid 1H at his first turn with 4 cards in each major.
A two level response in hearts promises a 5 card suit. A two level response in a minor can (and will) often be made on a four card suit. 
South

North



  1S

  2H

North has at least 5 hearts.

  

Finally, you should expect that if the original response is 2 or 3 No Trump, that the responder’s hand is balanced. 
South

North
  1D

  2NT

South probably has 5 diamonds and 4 hearts - (perhaps 6 diamonds and 5 hearts). 
  3H

  3NT

North has denied a 4 card major, and likely has good black suit stoppers. 
Not all sequences give so much information:
South

North

Responder can have anything ranging from a balanced hand to one with a void in 
  1S

  1NT

partner’s suit and a broken 7 card suit on the side! You must be very careful defend-




ing if this is the final contract, as responder often turns up with unexpected length.
Once the bidding has revealed the distribution of 2 of declarer’s suits, the opening lead may tell you about the third. When you know three, you know all four!
S: ♠ Q 





 




H: ♥ K 4 3 2









D: ♦ Q 8 7 6




 




C: ♣ A Q 7 2



 

S: ♠ T 4 3 2




S: ♠ 7 6 5
 

H: ♥ J 6




H: ♥ Q 7 5

Both defenders assume for now that South has
D: ♦ K 5 3




D: ♦ A J 9 2

5 spades and 4 hearts, although they may mod-
C: ♣ J 8 5 3

South


C: ♣ K 9 4 

ify this count as play develops. 
S: ♠ A K J 9 8




 




H: ♥ A T 9 8

East sees the opening lead of the ♦ 3, (West’s smallest card) and pre-



D: ♦ T 4 

sumes it is from a 4 card suit headed by an honor. East’s first thought



C: ♣ T 6

is that South is 5-4-1-3
East wins the first trick with the ♦ J and returns the ♦ 2, (present standard count). When declarer follows, both defenders have a count on declarer’s hand. East knows that West has led from ♦ K53 and West knows East started with ♦ AJ92. Therefore, declarer is marked with either 5-4-2-2 (most likely) or 5-5-2-1 distribution. For the defense to have any chance, they are going to need a both a club and a heart trick. Therefore, West wins the 2nd diamond and immediately shifts to a club before declarer can discard dummy’s clubs on good spades.  This defense defeats the contract one trick. Partner’s lead at trick one, along with the bidding and the count signal at trick two was enough to give an alert defender a full count on declarer’s hand, and pointed the way to the winning defense. 

North
S: ♠ A Q 3 





 




H: ♥ A T 5









D: ♦ J 7 4




 




C: ♣ Q T 6 3

West





East

 

S: ♠ T 9 4




S: ♠ K J 8 2
 

H: ♥ 7 6




H: ♥ 9 8 4

Both defenders assume for now that South has

D: ♦ 8 6 5




D: ♦ Q T 9

5 hearts and 4 diamonds. West sees East’s ♣ 9 

C: ♣ A K 8 7 5
South


C: ♣ 9 4 2

at trick one and reads it as count from 3 small. 

S: ♠ 7 6 5



 




H: ♥ K Q J 3 2

This assumption is strengthened by the fall of the ♣ J from South. 




D: ♦ A K 3 2 

Thus, South is assumed to be 3-5-4-1 and a spade shift is needed




C: ♣ J


before declarer can lead the ♣ Q from dummy, pitching a spade, and
then next use the ♣ 10 to discard another one. This is a common play, where declarer trades two spade losers for one club loser. So at trick two, West shifts to the Ten of Spades. If dummy’s Queen is played, East must win and 

return a spade (or a trump), but not a club! If a club is returned, South can discard spade now, and later two more diamonds on dummy’s established Queen-Ten of Clubs.

The count signal on defense is often critical to defending successfully. When declarer or dummy leads a suit for the first time, the defenders can, in they wish, give each other (and declarer) a count on the suit by playing high-low from an odd number (Upside Down) and Low-High from an even number (Upside Down). For example, assume this is the spade layout in a heart contract. There are trumps in dummy:  

North




South plans to trump his ♠10 in dummy, so plays the ♠ AK.
S: ♠ 6 3 



West follows with the ♠ 2-4, (or ♠ 4-5), and East plays the 

West



East 


♠ 7-8, (or  ♠ 8-9). Now when South ruffs the  ♠10 in dummy

S: ♠ J 5 4 2


S: ♠ Q 9 8 7
 
and both defenders see each other showing an even number, 



South


 

both should realize that South has no more spades. (East may 

S: ♠ A K T



have to discard later and can safely discard the ♠ Q.
This may sound easy enough, but defenders have been known to forget that when declarer or dummy initiates a suit, the only signal they can give is the count signal. If they attempt to show strength, they often mislead partner.  

North




Again, spades is the side suit, and declarer leads the four from
S: ♠ 4 3 



dummy. East should play the SEVEN (high from odd). The

West



East 


♠ 7 (high = discouraging) does NOT mean that East is weak in

S: ♠ 8 6


S: ♠ K J 9 7 2
 
spades, it simply means he has an odd number. If East gets



South


 

sloppy and plays the ♠ 2-7, he is showing an even number of

S: ♠ A Q T 5



spades, which may confuse West. West plays ♠ 6-8 to show 2.

Before proceeding further with the count signal, there are two finer points to be discussed:
1. When partner leads a suit initially, 3rd hand either plays third hand high (if possible) or gives count (UDCA). When declarer leads a suit, both defenders give count (UDCA) if they can’t win the trick.
2. The SECOND time a suit is played, in order to give accurate count signals, both defenders now switch to standard count signals (high = even, low = odd), to best pinpoint their exact distributions. Thus, when partner leads low at trick one, you usually play your highest equal card – which gives no indication of the count in that suit. When you next play that suit, either by leading it or discarding, the card you play should show the current present count using standard count signals. In other words, by the 2nd time a suit is played, the count should be known to at least one, if not both defenders. 

North




South leads a spade toward the dummy in a diamond contract. 
S: ♠ K Q J T 



West plays the ♠ 3 (UDCA the first time a suit is played). East 
West



East 


reads this as either 2 or 4 spades. He can tell from the bidding 
S: ♠ 8 7 4 3


S: ♠ A 9 2
 
that South does not have 4 spades, so he assumes West has 4 


South


 

spades. East wins the second spade trick, making it as tough 
S: ♠ 6 5 



as possible for South to reach dummy’s remaining spades. 
Further, East plays the ♠ 2 (false count from 3), because he holds the key card. Declarer can’t be certain of the distribution, but neither defender should be confused. Also, if West were to discard a spade early in the play, (before they were led), he would discard the ♠ 3, the same card he would play if the suit were led. Note no matter what discarding system you are playing (including odd-even, where the ♠ 3 would be an encouraging card), defenders do not signal encouragement in dummy’s strong suit. Usually, the first discard suggests attitude in that suit. When the discard is made in dummy’s strong suit, it shows count.  Another situation where a defender must rely on the bidding:
North




South leads the ♠ 3 up to dummy’s holding and West plays  
S: ♠ K Q J T 



the ♠ 9, showing either 3 or 5. How can East tell? If South has

West



East 


shown a balanced hand during the auction, he is unlikely to 

S: ♠ 9



S: ♠ A 7 6
 
have a singleton spade suggesting South has 3. East is usually


South


 

best advised to win the 3rd round, particularly at no trump with  

S: ♠ 3




no visible side dummy entry visible. 
If, on the other hand, during the bidding South has shown a red two-suiter, he is presumably short in spades. In that case, it is very likely that West’s nine is from five and declarer does indeed have a singleton spade. East will usually be best advised to win the first spade, particularly at a suit contract where he may lose his ace if declarer turns out to have a singleton. Some of the plays we learned in the lessons on Third Hand Play are going to help:

North




South is playing a club contract and West leads the ♠ 3 to East’s 
S: ♠ 7 6 



Queen as South ducks. East returns the ♠ 2, (standard low from

West



East 


three), to give West the count. Had East held ♠ Q92, he would

S: ♠ K J 4 3


S: ♠ Q T 8 2
 
return the ♠ 9 to show the current count. Also remember that if


South


 

South wins the 1st trick, and East must discard a spade later,
S: ♠ A 9 5



he discards the ♠ 2, to give the current standard count. 
North




Assume diamonds are trump, spades have never been bid, and  
S: ♠ Q 4 



West finds the lead of the ♠ 2 to the ♠ Q, ♠ K, and ♠ A. Early 

West



East 


in the hand, East wishes to discard a spade. He should discard

S: ♠ T 5 2


S: ♠ K J 9 8 3
 
the ♠ 9 to show a current (standard) even number. Even a non- 



South


 

expert West should be able to figure out that East had 5 spades 

S: ♠ A 7 6



rather than 3. (After all, South would have bid spades with 5). 

This signal can be invaluable in situations where partner has made a preemptive opening and it is difficult to determine his exact length:

North




Assume East opened 4♠ and South is playing the hand. West
S: ♠ J T 



leads the ♠ 7 to the ♠ 10, ♠ Q, and ♠ A. At this point, from 

West



East 


West’s point of view, East could have started with either 7 or

S: ♠ 7 2


S: ♠ KQ986543
8 spades. If East is able to discard the ♠ 3 (low from a current



South


 

odd number), at his first opportunity, West will know that East

S: ♠ A 
 



started with an even number, almost certainly eight. Why does





the count matter so much?  Partner may win the lead and have 

to decide which of two possible winners is cashing.  Knowing that declarer is now void in the suit may be the difference between a contract making or failing. Note on the 2nd play of the suit, East gives standard count.
In each of these examples, declarer has won the 1st trick and the defender with length has discarded from his long suit to give partner the count. What if the player with length wins the 1st trick and wishes to return the suit?  There could be trouble because of a conflict of signals. Defending a suit contract, the player with length does not always give count with his return. Sometimes, if he suspects his partner led a singleton, his return is suit-preference oriented, so that partner knows which suit to return after ruffing. However, if the defender with length knows that his partner will not be ruffing, he can give the count in the same fashion as he did when discarding. 

North




East has bid spades and West has supported, but South 
S: ♠ T 5 



becomes declarer in another suit. West leads the ♠ 2 to the ♠ A 

West



East 


and declarer’s ♠ 6. Traditionally, East has returned the ♠ 7 (4th

S: ♠ Q 8 2


S: ♠ A J 9 7 4 3
best), and West was unsure of East’s length. However, a mod-


South


 

ern East returns the ♠ 3 showing a current odd number and
S: ♠ K 6 



West can work out whether East started with 4 spades or 6.
The beauty of this method is that it is nearly impossible for declarer to false card to prevent the defenders from getting an accurate count. Consider this layout:

North




East has bid spades, West has supported, and South is playing
S: ♠ 7 4 



a touchy heart contract where the defenders need to adopt a  

West



East 


passive defense (not breaking new suits). West leads the ♠ 3 to

S: ♠ K T 3


S: ♠ A J 8 6 2

East’s ♠ A and South’s ♠ 9. East returns the ♠ 8 showing a 



South


 

current even number, to the ♠ Q and ♠ K. West can work out

S: ♠ Q 9 5



South has another spade and can safely exit with that suit.

Playing the old way, East would return the ♠ 6, and if South had false carded with the Nine and then the Queen, it would be impossible for West to discern the original spade position – since East may have started with ♠ AJ8652 and a third spade might be giving South a ruff-sluff. 
A.

North





B.


North




S: ♠ 7 2


 




S: ♠ T 4 2

West



East 




West



East



S: ♠ K Q T 8 6 3

S: ♠ 9 5 4



S: ♠ K Q 9 8 3


S: ♠ 7 6 5
 

South


 





South


 

S: ♠ A J







S: ♠ A J

In (A), West leads the ♠ K against a suit contract to South’s Ace. Early in the hand West discards the ♠ 3 to show a current odd number. A competent East can work out from the bidding whether West started with 4 or 6 spades. In (B), West leads the ♠ K once again to South’s Ace. This time when West discards early in the hand, he pitches the ♠ 9 (high from even), showing he originally held either 3 or 5. 
We have seen that from the other side of the table, (When East has the long suit), the first discard can clarify length in preemptive situations. 
North



West has preempted spades, suggesting either a 7 or 8 card 

S: ♠ J T


suit, and leads the ♠ K. Later he discards the ♠ 3 to show a 

West




East 

current odd number count. Had West’s original spade holding
S: ♠ K Q 9 8 6 5 4 3


S: ♠ 7 2
been ♠ KQ98654, his first discard would be the ♠ 9, to show 

South


 
a current even number count.  Keep in mind that this particular

S: ♠ A 



form of count signal is made by a player who has either led an







honor, or played an honor when his partner has led the suit.
You are almost ready to play with the big boys. Now all you have to do is put it all together. 




South	      West        North	      East


 1H	      Pass	2C	      Pass


 2D	      Pass	4H	  All Pass





South	      West        North	      East


 1H	      Pass	2C	      Pass


 2D	      Pass	4H	  All Pass





South	      West        North	      East


 1S	      Pass	2C	      Pass


 2H	      Pass	4H	  All Pass








